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SEM. S‘PRIMG'ZO\‘%

a solution of x = 5?

A 52=4x+7x—-8+x

ON
PAPER

B. 5+2(3x+4) =43

C. 2(4x—-12)+3x=6x+1

@ 2(4x +7) = 2x +4

1. Which of the following does not resultin

2, Solve for x.

9x —2(4x +5) = 22 — (4= x) — 12
2 -3k 10~ G 4RI
410 =3xe

-2%~\ o--l(o
+16 +\10

BFR [X=3)

3, The Independence Football team is buying
jackets, The jackets will cost $30 each plus a

The total number can be at most $2,238. The
inequality 30x + 18 < 2,238 can be solved to
determine x, the number of jackets that can b

represents the solution. - - < 2220

one-time fee of $18 for the design on the jacket.

purchased. Write and solve an inequality that™

4. What is the solution to the inequality?
—1-6x—-6>-11-7x
- T=lX y=-\-TKR
IR %
~T1+R7-\
+ 1 *1

IoxrgEmB s TSEE\
30X Z 2220 acKers

5. Write an equation that can be used to
solve thig problem, do not simplify. The
sum o@ﬁo_mmm@integers is 56.
y:':z X+ %2250

| 2%X42 =500\

6. Morgan already has the following test scores: 98,
.87, 93, and 91. If she wants her test average to be
a 93, what score must she earn on her next test?

% 3to‘l+x 45

7. A company uses the formula
T=31¢+1,513p to determine the total
cost to purchase c cases and p phones.
Write a formula that can be used to
determine the total number of phones
purchased, given the total cost, T, and
the number of cases purchased

g&-&-—lSIBPFf T-3\C.
1. = 1513

0. Telwidthbf arectangle i 9

The}perimeter lof the rectangle is
feet. What is the length, in feet, oI the

rectangle? _
xzlongtn (B)Z 1=245(3)
X=—O

10. Bunn’s Cakes charges@er ersonfand a
set-up ee to design a ¢ rite an equatlo
1nd the humber of guests (x) that could eat cake
at the party if they have a budget oor

cake. HK’\'ZS:“—\ZQ

2y = width

_hj

3

X

T

A

[ﬁm&%: 70

8. Ifeiare th _ ]
t er? Write and solve an equation to find
the number. ;
2| +3x=-24 2\ A3%=-24)
- - 2 ——
3%=-45 =-\5)
3 32
Xz —=\5
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11. Keyshawn and Trey begin saving money
each week. After x weeks, the following
functions represent the amount of money

they have saved.
Keyshawn f(x) =5x+36
Trey glx)=8x+9

After how many weeks will they have the
same amount of money? ON PAPER-
9 wkgs.

12. e
6

sum ofhredjconsecutive evenyintegers is
(-66) What is the value of the smallest of the

three integers?

-
L

-24 "2""\"2.2—|"2-0

13. Solve the inequality:

—~4(2x + 3)-10x > 14(x-8) + 3x

ON PAPER

4

14. Suzie’s test scores are 90, 93, %5, 87, and 88.
What is the lowest she can score on the next test to

achieve an average of at least a 90? q7 90 ‘

GHHB X S a0y

Yyztx 2540 %X Z 7

~d43 -Yu3

15. Which of the following equations gives a
solution of “no solution?”

A3x+3) =09
-—2x+7=—2x+14
C.dx + 3 = —4x + 3

Dx—-3=x-3

onN PAPER

16. The expression 35n+14f+6p+18d represents the
cost, in dollars, to purchase n cases of paper, {
packages of file folders, p packs of pencils, and d
flash drive. What is represented by each of th
following parts of the expression? :

350 cOSK OF QSEs of Foes thak o

835 each
14 &, cosk Per Packed file foidess

6p =3 cost OF PAks oFPencils sthak(
| c>%(t) each

4§ 9% of Flosh drives

% 4 ¥XA2 A %44 = -0l 24 ,‘ﬂ
Y= -bb s M
3__’5- L —LZ’ smal 3
aAE - 12
3

17. The length of a rectangle is 8 inches
more than the width. The perimeter is
80 inches. Find the area of the
rectangle.

ON PAPER

18. Five less than the quotient of a number and 3
is —7. What is half the number?

X.5=-7 %=-0
- +tS 5 E\-\q\r% -3
(HF=-20)

19. The perimeter of triangle RST is 6x-7.
If side length RS is x+2 and RT is 2x-1,
what js the length of side ST?

20. Tory and Samuel purchased pencils. Tory
purchased 4 times as many pencils than Samuel.
If they purchased 35 total pencils, how many

pre,

1Y - ils did hasert
w > -?I,)x ghﬁ K Sompels Pencis U =Tonys pendls
XFa%=3%  u4on2s L
‘RLEI_\AT -5_5 - 2.5. e ‘S
5 § 025
X2 + 2%\ S
% x:"" Z «?@f.“ \>

E2a4
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CD A. 52:'1_)_(-%:_71&-8-\-&

Date

B. 5+2(3xtP=y3 C. 2UX1D4BX= X+ |

B -24+3X =oXH |

52= \2% - S5+oX+B =43 -
+' i 13 +boX =43 A "..."é’,ﬁﬂ .
o= 2% 1% ~i% L ~ |
2 = eX=3¢c 5X-24=/! |
x5 =5
©. 2(4x+N=2x+4 SX+3p = Bx+9q 1D |
BR+14= 2% 44 - B AR - _| =4 (2x43)-10 X 1y (x-8)
-2¥ -2¥ X+3(o"q "('3}l||‘
~“oxaT=4 R A T e e
Sk Bl — = ARY -1 Y VIR |
(f_z\_ ==10 3X - ,;_j -\ ¥ v
ey T3 T3 | oax -
:-_5__ - -35 -\27-\‘2’ :
X="2 X =3 “nZmz
___ | | T ~-35%X7=-100
5 =q B. -2xt71=-2X414 —35 T3%
Dha 30 =q BB a0 sl’><4—z_9\
..:3 -9 T=14 ' L —
%}_(::% @ w=widk o
wAB= langth
X =0)| ‘ wkB Hwlb = o s
W W b -l
C-4xt3z-4xtd 2o o el
% Tux -X___-% whg = 24
TExi3 = > S -3=-3 reo= Qw .
2 20016
g A= ‘58‘-[‘”\2’
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| | X+ :-‘l ='n.‘f
21. If 3(p — 3) — 5p < —3p — 6 and Pis an 22, Solve: - -
integer, what is the greatest possible ( L (@2 ('al (ﬁs X = -10
value of P+ 3? 3= ~Sp<L ~3p-b - Fm = — — -
\'&S‘E _zp,q ‘_gp-b 10 _5 2
s2 So 32 tox+'-l-_55§-(o

23, Simplify the expressioh?lsing the
correct order of operations.
5+ 6(3% —15)2
S+ (27=I s)"'
S+6 (12)?
S+l (1Y

S+ 8oy
Bl

24. What are the terms, variables, constants, and
coefficients of the expression below?

7 2xy® +5 — x%y
Terms: 2%\!3. 5. = %25
| ¥ ¥
Variables: W \ 5'
Coefficients: 2 — \

S

Constants:

25. The side lengths of triangle KMN are

26‘%/ gBh(l\ Solve for B.

three consecutive odd integers. The o,
perimeter of the triangle 165cm. What is -
f" &he length of the longest side? 3\’ —H EB - "F\— \
k2 —Z Xt X424+ X44= 105
4y = 3 X4k =1S 53 55,57
3X =159
X=53 |37 Lo
27. Solve for hidyy = { Bh($) 28. In the inequality 3x — 8 > 1@ which phrase
3\, - \&h accurately and completely describes x?
A At 3X-8 716
. At most 8 ] +%
B. Exactly 8
h& 3\/—\ . Less than 8 % 7 _Z_ﬂ
More than 8 3
X778

30. Marissa plans to create silk floral
arrangements. The expression 13v + 8f +
6b + 3m represents her cost in dollars, for
the arrangements when she buysju vases} f
stems of flowers, b stems of wood bark, and
m packages of marbles. What does the term
13v represent?

13V vrepresemt s Yhe “Yotal
cosk of Vv vases which cost
$\3 cach




